

Resuelva las siguientes sustracciones de fracciones heterogéneas

a) $\frac{23}{4} - \frac{5}{2} = \frac{(\quad) - (\quad)}{\quad} = \frac{\quad - \quad}{\quad} = \frac{\quad}{\quad}$

mcm (__, __)

mcm = __ x __ = __

b) $\frac{11}{4} - \frac{1}{9} = \frac{(\quad) - (\quad)}{\quad} = \frac{\quad - \quad}{\quad} = \frac{\quad}{\quad}$

mcm (__, __)

mcm = __ x __ x __ =
 __ x __ x __ =
 __ x __ =

c) $\frac{4}{9} - \frac{1}{3} = \frac{(\quad) - (\quad)}{\quad} = \frac{\quad - \quad}{\quad} = \frac{\quad}{\quad}$

mcm (__, __)

mcm = __ x __ =

d) $\frac{7}{3} - \frac{6}{4} = \frac{(\quad) - (\quad)}{\quad} = \frac{\quad - \quad}{\quad} = \frac{\quad}{\quad}$

mcm (__, __)

mcm = $__ \times __ \times __ =$
 $__ \times __ = __$